
SAP ABAP table V_MSP_MHIS_MHIO {Generated Table for View}

V_MSP_MHIS_MHIO

MANDT [CLNT (3)]

WARPL [CHAR (12)]

ABNUM [INT4 (10)]

TSABR [CHAR (1)]

VGNUM [INT4 (10)]

TERMA [CHAR (1)]

WPPOS [CHAR (16)]

TSTAT [CHAR (1)]

QMNUM [CHAR (12)]

MPOS_IWERK [CHAR (4)]

MPLA

MANDT [CLNT (3)]

WARPL [CHAR (12)]
 V_MSP_MHIS_MHIO-WARPL = MPLA-WARPL 

0..N

1
QMEL

MANDT [CLNT (3)]

QMNUM [CHAR (12)]

 V_MSP_MHIS_MHIO-QMNUM = QMEL-QMNUM 
0..N0..N

T399I

MANDT [CLNT (3)]

IWERK [CHAR (4)]

 V_MSP_MHIS_MHIO-MPOS_IWERK = T399I-IWERK 

0..N

{0,1}


